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class A {

private int a; //
int b; //
public int c; //

public class Test {
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JE3S

2
oo

public static void main(String args([]) {

A obj = new A();
ebj—a—=-130+ //
obj.b = 20; //
obj.c = 30; //
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public class Account {
private int regNumber;
private String name;
private int balance;

public

}
public

}
public

}
public

}

String getName () {
return name;

void setName (String name) {
this.name = name;

int getBalance () {
return balance;

void setBalance(int balance) {
this.balance = balance;



public class AccountTest {

public static void main(String[] args) {

Account obj = new Account();
obj.setName ("Tom") ;

ob7j.setBalance (100000) ;
System.out.println ("O|&2 " + obj.getName ()
+ n %IOI- Il_l-—_ll—E n
+ obj.getBalance () + "®L|Cf.m);
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public void setAge (int age)

{

if( age < 0 )
this.age
else
this.age

0;

age;




public class SafeArray {

private int af[];

public int length;

public SafeArray(int size) {
a = new int[size];
length = size;

}

public int get(int index) ({
??

}

public void put(int index, int wvalue) {
??

}




Test Code

public class SafeArrayTest ({
public static void main(String args([]) {
SafeArray array = new SafeArray(3);

for (int 1 = 0; i < (array.length + 1); i++) {
array.put(i, i * 10);
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